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Collegai grafici Nome:
Collegail grafico alla sua tabella. Risposte
1) | Colore | Persone 2) | Colore | Persone 3) | Colore | Persone
blu 4.000 blu 3.000 blu 3.000 1
verde 5.000 verde 10.000 verde 5.000 '
arancione 3.000 arancione 6.000 arancione | 10.000
gialo 6.000 gialo 5.000 gialo 6.000 2.
rosso 10.000 rosso 4.000 rosso 4.000
3.
4) | Colore | Persone 5) | Colore | Persone 6) | Colore | Persone
blu 4.000 blu 5.000 blu 10.000 4
verde 6.000 verde 3.000 verde 5.000
arancione 10.000 arancione 4.000 arancione 3.000 5.
gialo 5.000 gialo 6.000 gialo 6.000
rosso 3.000 rosso 10.000 rosso 4.000 5
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Collegai grafici Nome: Soluzioni
Collegail grafico alla sua tabella. Risposte
1) | Colore | Persone 2) | Colore | Persone 3) | Colore | Persone
blu 4.000 blu 3.000 blu 3.000 1 D
verde 5.000 verde 10.000 verde 5.000 '
arancione 3.000 arancione 6.000 arancione | 10.000
gialo 6.000 gialo 5.000 gialo 6.000 2. |
rosso 10.000 rosso 4.000 rosso 4.000
3 F
4) | Colore | Persone 5) | Colore | Persone 6) | Colore | Persone G
blu 4.000 blu 5.000 blu 10.000 4
verde 6.000 verde 3.000 verde 5.000
arancione 10.000 arancione 4.000 arancione 3.000 5 A
gialo 5.000 gialo 6.000 gialo 6.000
rosso 3.000 rosso 10.000 rosso 4.000 5 C
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